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1. Consider the line that passes through the point (=1,5)and hasaslope of =3. y+| = == =

a) Write the equation for the line in point-slope form.

b

>/.- >/ = W (X — X,

y=5=-=(x-—1)

!¥—5=—50wD L
b) €eq or the line in slope-intercept form. >/ = Y\ X «4
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¢) Write the equation for the line in standard form. P e T B}/ - C’
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2. Write'the'Slope-intertept form of an equation for the line that passes through (-1, ;2) and is parallel to
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3. Write the slope-intercept form of an equation for the line that passes through (=3, —2) and is perpendicular to
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4. Write an equation in slope-intercept form for the line that passes tﬁ'Sbgh the points (—2,—1) and (2,11).
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5. Graph y=6x % / 6. Graphy=x-3
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9. Write an equation in slope-intercept form for each line graphed below. I
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a) Equation: Y = — - b) Equation: Y = 2..>< —
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